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BT & HEHE) |5
IF S BT 165 210 213 423
BT —TE 188 179 200 379
FFREI=TH 211 252 253 505
FFHE=TH 269 297 353 650
AERETET B 704 828 912 1740
FHEETH 1056 1397 1505 2902
AERBIRT B 815 1040 1129 2169
BT TE 423 479 560 1039
FFPET\TH 190 164 192 356
|IEFH—TH 222 234 274 508
BFEIZTH 935 1066 1145 2211
/08 219 308 307 615
S HET 0 0 0 0
FSE—TH 462 568 592 1160
SEI—TH 1367 1753 1926 3679
MREI=TE 348 446 481 927
M&ETMTH 440 602 607 1209
/NERET 602 934 942 1876
/NHEI—TH 112 134 134 268
/NHEIZTH 657 927 924 1851
INEHET=TH 147 212 219 431
FAOET 522 510 689 1199
ZFP9Er 0 0 0 0
FMEI—TH 202 246 256 502
FMEI—TH 273 399 427 826
EXE 1 1 1 2
StER—TH 319 473 453 926
StREI—TH 452 533 643 1176
ZFH 589 803 838 1641
=BT 264 337 389 726
ZIRHET 256 361 361 722
— &b 181 234 234 468
[ A< T 786 1068 1153 2221
LU BT 509 636 661 1297
FRAEERT—T B 254 293 313 606
AERIZTE 561 698 781 1479
PRAERI=THE 143 182 209 391
EEH 200 302 260 562
EER—TH 387 476 526 1002
EZEB_"TH 305 376 423 799
EZEB=TH 612 698 783 1481
EXEEEREE 56 67 78 145
BAHET 551 534 73 607
BABI—TH 662 754 798 1552
HAETZTE 1087 1102 1291 2393
BAEI=TE 434 573 572 1145
BABTUT H 825 1009 1040 2049
BAETRTE 592 654 721 1375
BABINTH 357 368 414 782
A EET 356 360 311 671
M EBT—TE 267 228 215 443
M ERI=TE 434 503 504 1007
MEBI=TE 438 501 560 1061
h EETET B 249 330 321 651
A THET 2435 3360 3418 6778

HEH 5B
[TKERT 0 0 0 0
[RERT—T B 302 421 404 825
IREBIZTE 523 672 771 1443
KEBT=TH 946 1162 1273 2435
RERTEET B 287 368 362 730
IREETRTH 1228 1486 1580 3066
EEHT 2591 3812 3810 7622
LASEE E 339 531 550 1081
LASEE E 464 696 712 1408
WAEH=TH 1467 2120 2250 4370
LSEE B 759 1127 1227 2354
LSEE E 420 611 653 1264
E & HT 374 529 581 1110
3 H BT 213 287 311 598
FHAERT 275 382 404 786
=BT 473 676 716 1392
FOHET 499 680 729 1409
iR R ET 217 310 304 614
s BT 454 665 652 1317
B HT 761 1125 1095 2220
ERE 132 189 208 397
DNZTHEFHE—TH 656 942 970 1912
NEAEH_TH 607 892 902 1794
DEAH=TH 391 528 534 1062
e 0 0 0 0
FEa—TH 389 505 537 1042
BEA-TH 561 779 828 1607
FEE=TH 557 655 754 1409
KEHE—TH 755 1058 1126 2184
KEHE=TH 1062 1425 1511 2936
FBRE=TEHE 1168 1414 1548 2962
IEOMNEHF—TE 124 207 231 438
IFOAHE=TH 818 1315 1333 2648
IEOMNHF=TE 2717 419 452 871
HIEE—TH 240 402 392 794
HTEEZTH 277 451 447 898
PN R T 1 0 1 1
ANEE—TE 255 318 336 654
NHEE=TE 288 399 417 816
NHE=TH 326 482 465 947
ANEETETE 191 304 315 619
F& [EIET 3 5 1 6
EER—TH 663 900 929 1829
EER_TE 648 792 784 1576
EEE=TH 355 518 533 1051
EERNTE 319 328 382 710
ERE—TH 275 328 322 650
EREI—TH 255 393 382 775
EMREI=TH 150 205 211 416
HERETH 175 194 222 416
EMETATH 266 368 345 713
EREIRTH 207 283 286 569
FHET 262 212 277 489
FHE—TH 216 226 265 491
FHE-TH 186 258 278 536

B4 HEHR B =
R BRAET 306 434 442 876
FHBIZTH 134 183 205 388
BT E—TH 217 293 302 595
BYE_TE 554 707 781 1488
BT E=TH 143 179 197 376
FHUER 1 2 2 4
HRHEF—TE 0 0 0 0
HPHE_TH 0 0 0 0
HPHE=TH 0 0 0 0
HPAHEFUT B 0 0 0 0
EARJIET 146 200 250 450
= HET 186 267 314 581
AFHET 295 427 435 862
EARHET 327 462 499 961
EFHE 188 243 284 527
THIRAT—U—TE 0 0 0 0
T/ RAT—=UZTE 0 0 0 0
T/ AT—C=TH 1 1 0 1
TEFEHT 242 371 389 760
/NEF EHET 215 336 346 682
T=H] 196 269 324 593
{1 3fi BT 306 463 463 926
EE ILET 8 7 6 13
Jt H G BT 169 222 279 501
[if] BT 80 124 120 244
LR ET 82 139 145 284
= IEHT 118 175 174 349
12 AT 267 420 452 872
T £ BT 118 163 187 350
A AT 211 314 345 659
KEFHT 162 207 229 436
ITE ) 4 7 5 12
=—TH 319 238 297 535
=_TH 610 507 618 1125
E£=TH 532 504 604 1108
| SEHT 56 73 86 159
| ST 224 280 315 595
EHE—TH 233 287 289 576
EHEIZTH 158 180 198 378
AHET 804 913 984 1897
ERIET 1380 1555 1610 3165
LHT 1610 2050 2246 4296
EEDET ) 1088 1276 1230 2506
L+ {KHET 1061 1455 1449 2904
| FHET 574 821 797 1618
| EFE—TH 147 154 176 330
EFHE=TH 311 343 372 715
FH=TH 334 411 421 832
/NEFHET 61 86 93 179
BILE—TE 534 691 769 1460
EBILE=TE 1809 1700 1743 3443
BLUE=TEH 1758 2071 2215 4286
BELEMmTH 348 396 479 875
& it 69365 88959|  93658] 182617
%EI ABRE 876 940 1104 2044




